n 3Nt FNE =

O AR X F25F

o AEML) FL& TA AFES 3P og =3, 12end LIS
IRAE FEH TAY EQFES QY JNARD T8

<3D X &>

mi::
< o X (as-is) > < 20224 > < 20254 >
<GAX|E>
M= 2E(25cm EAMX|50%) 1H12cm) EAMX|50%) 19 (12cm)
( : AFOFX I50% 29 25¢m) AFOFX| (50%) 2H (25¢m)
<3D X[¥> - -
M= 38.6% M= 100% M2 100%(2A)
<3D UM 2> ’
X = X /EMX EmielpN
=2 15% M 6.4%F2E Al ; jig?;g% LD
3D°'7<11E°4 TS ofd
O JltHg 1t

o WE-BA-AGSOC 5 EAEAC
AR4e) AR AGL FAs T

_’I’I_




o HAFH A=FAH} HE 5G FAY, FlolsA, H

2k
S o

ARZ|RE Ml A o] 2435t} Al 5 At AN B

Uber Grab

R |= &

airbnb

CI2XI=  Google Maps #
B
,‘G}
Q Ers
Hlo|HX| =
< 2D SZHEE Tk Mk > < 3D SZHEE Tk My >

_12_



XA SUEE A= OlAl

< TEXZZEM AlH FF(20)eF 2LHA]

_13_



